12.20

.............. G=I353|:
S 4
------------------------- Q=
__________________ (S+Ry)
a Energy balance:
= E A, = E, (47K’
7= Bh = B (47R)) . . ar(s+R)  (s+R)
. = Eg(47R}) = G4x(S+R;) = E, = G- o G- =
q =G Ay = GAz(S+R,) (47K;) (r)
Solar irradiation = G = Ili~cos0dw cos0 = 1
2
= [1do
2z
=1 j dw
25
=1 -0,
2 2 2
:1{.4:1[.”1?52:”1‘. RSZ= . R52
r (S+Ry) (S+Ry) (S+Ry)

S+R,)
E, = G-# = 6.3e7l:Wz:|
Ry m

£\
E, = o] = T, = (JJ 5787 K
o
s = S _ & =0.5 [,um]
’ T, 5787
Dintercepted by Earth~ — G'Acms:m/wnufEmrh =Gz 'Rf:

114
G 0
Demitted by Earth = E, 'A:urfaczmm of Earth  — (0‘T£ ) . (4”Ré) = Earth = ( ) =2779K =4.9"C



